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Zwpykwnnt Zwpkunnt
dulwbwljuopewtih dudwbuljuppowiih SHpELLE
h/h Znmpwstblph wjuwbnodp I i wkpugnud ((,:)) uqkgnud
twuwhwphy Juunwpnruljut
I GUUUNPSLEL, wyry pymy’ 171949.5 171882.2 -67.3
I |MEnwljub yuun]bphg 170166.2 170166.2 0.0
2 |[Munudbwljut wpulpnhljughg 0.0
3 [ddwpnyh dSwnwynipymbibkphg 0.0
4 [dwpdwljunipniihg 83.3 86.3 3.0
5 |Uguuwplpdub b jnudnibwy hudwg&wplitiphg 0.0
6 |pudwptnphhg 0.0
7 |dhbwbuwljut ogunipnitihg 0.0
8 |Ulwhyutipht Jkpwplipnn sinphukphg 1500.0 1500.0 0.0
9 |Bluununutiphti ykpupkpny sinphkiphg 0.0
10 |Pwliljh winljnuhg 200.0 129.7 7708
11 Uy Ejundnunbikphg 0.0
I i OuUnULE, wn [a\{nu[‘ 171949.5 164240.9 -7708.6
1 Upluunnunjupdh gond, nphg‘ 134094.6 133914.0 -180.6
1.1 [ukpunwljwb ppocpyub haund) dwbljugupdubph qonyg 0.0
1.2 [upupgluan puwi gdm| 8910.0 8910.0 0.0
2 |Qbtpmguwb gdny 11020.0 9769.0 -1251.0
3 |EjElpnputubpghuh qdny 1032.0 957.6 -74.4
4 |Qnunin-Ynjninni qony 440.5 203.8 -236.7
5  |Unpwhwlinippub goni 405.0 404.0 -1.0
6 |Ujnnwpulinipyub gony 20.0 20.0 0.0
7 {Ywyh qony, wyry il 325.2 2444 -80.8
7.1 [pudwbmppught dwp 115.2 115.2 0.0
7.2 |pnupkun|wp 90.0 592 -30.8
73 |punkplbn Guiyg "o 120.0 70.0 -50.0
8  |Puwlljuyhl dwpuyn pjul gony 0.0
9 [Stnbuwljub wypwipbtiph gdom] 950.0 950.0 0.0
10 (9puukypuljuh wypubpbtph gony . 950.0 940.6 =94
11 |Upwquulwy wnupljutiph gdom] 0.0
12 [Uttinh qony 0.0
13 {Spwhuynpunh qany 0.0
14 |Chpwghl Jipuwtnpngiub qony 300.0 180.8 119.2
15 (Uwuuwpljuwb b Yndnibiwy hundudwptitiph qony 0.0
16 |Qbpmguiwt hudwljupgh vupuuwplpuiwh gony 1200.0 1082.2 -117.8
17 |Ypudwotinphh gdny| 0.0
18 [Zhduwlju thengutiph twowdnipjut gony, npbg‘ 15000.0 15000.0 0.0
18.1 Jwtihwinnyg wnwugjud 1500.0 1500.0 0.0
19 |Chwdnmantibpht Jkpupkpnn pinphkiph gony 0.0
20 |9thnjuhwnnigynn hwpljph gony 0.0
21 |Uyp dwnwym ppnibitiph b dwuubiph gqony, wyny IOL]_DUI‘ 6172.2 531.3 -5640.9
211 [Pupppheh (hgpunnpnod 59.0 59.0 0.0
212 |Qtmudtbph hunfwljupg 300.0 299 4 0.6
21.3 Uy dwuukip 5813.2 172.9 -5640.3
21.4 0.0
255
21.6 0.0
21 |Cwhnmpwhwuplh gony 40.0 43.2 3:2
[ jcuznk3e /40uuu/ 0.0 7641.3 7641.3
0.0 0.0 0.0
0.0
0.0
0.0 7641.3 7641.3
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Quuhh tpunjnpp hwg. gpud

Zuipytnnt Zuipytunt
dunlwuljuopowtih | dudwbwljuppowith e
h/h Znipjudsttiph wgubnudp wytjugnid (+)
g gl ujuqbgnid (-)
twfuuwthwphy Junwpnnuljub
I Tpudwljub dhongubph mquun dbwgnpnp 6269.4 6269 4 0.0
hwpytnnm dudwmbwljuypeowh uljqpht
11 o rlulwindgnghph lfanphIl‘ et 170466.2 170399.5 -66:7
pynud, :
1 [MEnwlub yungtphg 170166.2 170166.2 0.0
2 |Munudbwlub wypuljnhlughg 0.0
3 |ddwupnyh b‘mnm]m,p]m,hhhphg 0.0
4 |duwpduljuinmpniihg 100.0 103.6 3.6
5 [Uguwuwpluwb b hndmbw) hwdwddwuplbphg 0.0
6 |pudwolinphhg 0.0
7 [dhtwbuwljub oglinijnilihg 0.0
8 [Fwllh ninlnuhg 200.0 1297 -70.3
9 [Ytphuinpuljub yuwpwnplinhg 0.0
10 |Ujp Ununpliphg 0.0
el e L kgt wn 173784.8 171954.6 -1830.2
pyYmud, ‘
w) pipughly wyn pymd, 150327.3 148508.7 -1818.6
1 |Uphowinu]wpdh gdny, nphg 134094.6 133914.0 -180.6
1.1 Jubpunwulb Ypporpjut hunndy dutljuupdutiph gony 0.0
1.2 jyupglhuwnpdul gdny 8910.0 8910.0 0.0
2 |QLnmguwl gony 10131.0 9102.0 -1029.0
3 |bEjunpwkutipghugh gony 924.0 840.0 -84.0
4 |QpuUnin-Ynjninne gony 435.5 223.0 <212.5
5 |Unpwhwbnipjul gdny 405.0 404.0 =1.0
6 |Uunuwpwlnipjul gdny 20.0 20.0 0.0
7 [Quyh gony, wyy pynud’ 324.2 267.0 ~57.2
7.1 |pudwbnpnuhb &wp 1152 115:2 0.0
7.2 |pnutwydwp 89.0 71.8 -17.2
7.3 |huntpbbtn juy 120.0 80.0 -40.0
8 |Pwlluyhb dwnuynipyub gdny , 0.0
9  |Stnbkuwljul wypwbptbph gény 950.0 950.0 0.0
10 [Qpuublyuluwiht wmuypwbptbph qdny 950.0 940.6 -9.4
11 |Upuquduy wnuplulitinh gonyg 0.0
12 |Ultnh gony 0.0
13 |Spwtiuynpunh gony 0.0
14 |Cupughl Jipubnpngdub gdm] 300.0 180.8 =119.2
15 |Uyuwuwplpdwb b jndmbw hwdwySwpttph gdny 0.0
16 |Qtnmgiwl hwdwljupgh vyuwuwpldwb gdny 1200.0 1082.2 -117.8
17 [pudwplinphh qony 0.0
18 [Zwpuyht wwpunwynpipmitph qdny, wyy pnad 56.0 53.8 22.2




-

/( 16.1 [pwhnipuwhwplyh gdny 40.0 87.5 2.5
18.2 |UUZ-h gdny 16.0 16.3 0.3
18.3 |sthnjuhunnmgynn hwpljtph qdm] 0.0

19 |9pbghunpubjub yyuwpuph dupdwb gény 0.0
20 |Uy kpkph gdm, unn pymd’ 537.0 531.3 =5.7
20.1 |uy; Gjplp 237.0 231.9 =51
20.2 |qunudbbph hundmlupgnud 300.0 299.4 -0.6
203 0.0
20.4 0.0
205 0.0
p) Juyhwnw wyy pynud, 23457.5° 23445.9 -11.6
1 [Zhdbwlul dvhongutiph dbnp pEpdwt gony, uyn pymd’ 4954.8 4954.8 0.0
1.1 |wowltpnuljub gnyp 0.0
1.2 |hudwljupgswihb inkjuthju 0.0
1.3 Jwpununpu-nbnbuwljub gnip 4954.8 4954.8 0.0
1.4 0.0
165 0.0
2 |zhdtwlul vhongutiph hhdtuljwt JEipuinpngnud, wjn pynid’ 18502.7 18491.1 -11.6
2.1 Judpugqud gnuyph (otuph) 18502.7 18491.1 -11.6
q) pwhnyph dbwgnpph oqunugnpdmud, wyn pymd’ 0.0 0.0 0.0
1 0.0
2 0.0
Ypuwdwlwb vhongutph mquwn dtwgn
i Gl et e 2950.8 47143 1763.5
hwoybtunnt dudwbwlwopowith Ykpoht
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